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30 ALL (B8 100.0 74.3 25.7
(100.0) (80. 4) (19.6) (100. 0) (77.8) (22.2) (100.0) (87.9) (12. 1)
<100.0> | <84.4> <15. 6> <100, 0> | <90 4> <9.6> <100.0> | <66.4> <33.6>
FHEEOEHE
Y 100.0 65.9 34.1
<100. 0> <45.3> <54.
(100. 0) (89. 6) (10. 4) (100.0) (89.8) (10.2) (100.0) (89. 0) (11.0)
<100.0> | <92.0> <8.0> <100.0> | <92.0> <8.0> <100. 0> <92. <8.0>
L 100.0 83.7 16.3
<100. 0> 6. <23. 9>
(100. 0) (79. 4) (20. 6) (100.0) (79. 4) (20. 6) (100.0) (79. 4) (20.6)
<100.0> | <89.6> <10. & <100.0> | <88.8> 31,2 <100. 0> <92.3> [
FERENEOR O E]
Y 100.0 71.6 28. 4
<100.0> <62. 8> Q1.2
(100. 0) (73. 4 (26. 6) (100. 0) (69. 4) (30. 6) (100. 0) 83.7) (16.3)
<100.0> | <88.5> <11.5> <100. 0> 871.2> <12.8> | <100.0> <90. 6> 9. 4>
L 100.0 93.3 6.7
<100. 0> <69. 1> <30. 9
(100. 0) (96. 2) 3.8 (100.0) (97. 4) (2.6) (100. 0) (79.3) (20.7)
<100.0> | <99.0> <. <100. 0> <98.7> 1.3 <100. 0> <99. > <0. 3>

H16.4 1~17.3. 1 F TICABAEEZRT L, ERFPEL >=-F=100.0%
GE)  PIESRERIHIS 4 1~14 3 NETICNHEBRELRT L., ERFEL >E=100.0%

Ff)l




F40-2% EE - EZXTHE - FHECOERE - NBUREHEOHRTOAE. TEAELT
BROEBRRANERMEES (H16.4.1~17.3.31)

(%)
ERTEE| HEHRE BEE |ERIILE|ERTEE 5
® OH | HUBER| OHVE | OHLE |BELLE| LSRR T B
BEM BER BERR
(#25H]
100.0 1.1 98. 9 0.1
100.0) | (78.3) (19.4) 2.3)
GES]
e 3 100. 0 1.7 98. 3 -
(100.0) | (100.0) (-) (=)
T 100.0 1.5 98. 4 0.1
(100.0) | @5 1) (54.8) 0. 1)
Wit 100. 0 1.5 98. 4 0.1
(100.0) | (71.6) 21.4) (7.0
BE - HR - B - kEE 100.0 0.6 99. 4 0.1
(100.0) | (100.0) (=) (—)
EHAIEE 100.0 3.7 96. 3 0.0
(100.0) | (94.2) G.1) ©.7
Ema % 100. 0 0.2 99. 8 -
(100.0) | (551 (42, 4) 2.5)
L IC 100.0 1.0 99.0 0.1
(100.0) | (90.9) (7.3) (1.8)
&5 - RIBY 100. 0 0.1 99.9 -
(100.0) | (90.9) 9. 1) (—)
FRIEE 100.0 2.2 97.7 0.0
(100.0) | (99.6) 0. 4) (—)
SR BEE 100.0 0.4 9.6 -
(100.0) | (916 (8.4) (—)
=R B 100.0 2.2 97.8 -
(100.0) | (93.2) (6.8) (=)
BE FTEREE 100. 0 0.5 99. 5 0.0
(100.0) | (33.9) (54.8) (11.3)
HEH—ERE% 100.0 0.4 99. 6 -
(100.0) | (90.8) 9.2) (—)
H—ER% 100. 0 0.7 99. 3 0.0
(100.0) | (94.0) (5.4) 0. 6)
[E#HRER)
500 ALLE 100. 0 24.5 74.7 0.8
(100.0) | (85.7) (8.0) (6. 3)
100~499A 100. 0 5.9 94.1 -
(100.0) | (80.7) (14.4) @.9)
30~99A 100.0 2.0 97.7 0.3
(100.0) | (72.4) (23.5) @
5~29A 100.0 0.7 99.3 0.0
(100.0) | (79.6) (20. 4) (~)
30ALLE (E#8) 100.0 3.0 9.7 0.3
100.0) | (77.0) (18.3) (4.6)
(FEHESOEE]
Y 100.0 1.2 98.8 0.0
(100.0) | (87.3) (11.0) (1.7
mL 100.0 1.0 98.9 0.1
(100.0) | (75.8) (21.8) (2.4)
[TEREFEOHEDER]
BY 100.0 1.3 98. 7 0.0
(100.0) | (69.9) (26.7) (3. 4)
"L 100.0 0.8 99. 1 0.1
(100.0) | (950 (5.0) (=)

FEEFTHK=100.0%




FOR EX-EXTHRM - NTEAXNEORTOER - BENMEKENM. Bk - REBKEMAA
THEXDNEERS

(5}
Bxit
\ J 1AM~ 2z M~ 1A~ IMB~ MR~ !
Ll 1 EmEE 2EMEE ImBEH InfEHE SmA%E TEEE ik

]

100.0 9.8 12.5 42 24.2 40.0 7.1 2.2
<100.0> 3.6 [N <10.3> <62.9> 4.1 Q.8 @
€331

% 100. 0 - - - 100.0 - - -

jL30E 4 100.0 0.2 99,1 - - 0.7 - -

52 4 1000 18.0 16.6 9.2 23.4 21.5 9.7 1.6

WE - HA - Bt - KER 100.0 - 8.1 - 83.8 - - 8.1

WEE R 100.0 ~ 5.0 5.6 15.6 68.3 5.6 -

W 100.0 - - - 28.1 67.7 4.2 -

HE - TR 1000 - - 0.2 1.3 85.4 2.9 0.2

&M - RIER 100.0 - -~ - 60.2 - 29.9 10.0

FHER 100.0 96.5 R 0.2 - 2.2 - -

BRRE, BaN 100. 0 - - - 100. 0 - - -

EM. Wi 100.0 ~ 1.8 8.7 56.2 18.4 11 13.8

BE. SEXER 100.0 2.5 - 9.9 15.2 9.9 2.5 -
BY—ERWNK 100.0 - - - 86. 2 12.0 1.8 -

H—ERR 100.0 1.2 0.3 69 41.1 2.4 3r.1 0.4

[ 331

500ARL 100.0 21 4.6 8.7 33.1 27.3 216 2.6

100~499 A 100.0 2.0 5.7 12.% 50.8 18.8 9.6 0.6

30~90A 100.0 2.7 1.6 5.3 48.4 32.6 0.7 8.8

5~20A 100. 0 16.7 20.8 - 36 52.8 61 -

O ALL (BB 100.0 2.3 3.7 8.7 46.2 26.3 8.2 4.5

<100. 0> 4. <6.1> A2 48 1> <i9.5> <5 6> 6.1

[(MEXRHEDORATDER)

/Y 100.0 5.7 7.6 6.9 2. 26.9 7.0 3.8
®L 100.0 15.2 19.0 0.7 0.6 51.3 74 -

(BEAREERRE]

PMOBERRERH TS 100.0 5.3 1.6 57 44.1 28.9 1.5 0.9
EWO3IBET 100.0 7.1 2.6 5.0 55.4 29.3 0.6 -

93BEEXEHARN 100. 0 - - - 100. 0 - - -
60 A 100.0 - 53.1 12.2 13.2 18.4 3.2 -
SMATIEX 1 ERHE 100.0 - 50 95.0 - -
15 100.0 3.7 3.8 6.1 31.0 21.6 24.3 3.5
TEEEX DM 100.0 - 3.6 - 34.4 20.2 29.6 3.2

MMOMBIEL <. PEERRBTE 2 100.0 10.9 8.3 2.2 13.8 - - 42.7

= 1
F P 180~ 2 B~ THVA ~ IMA~ 6MAB~ .
& M EE 2EMRE ThBRE amAx# EmARE L ERE i
[ T
100.0 58 15.2 4.2 22.8 2.1 7.2 2.6
<100. 0> 5.0 .8 <8 6 <56. 4> <16.8> 2.2 3.3
3 3]
(=3 100.0 - - - 100.0 - - -
L3133 100.0 0.2 99.5 - - 0.2 - -
iR 100.0 12.7 20. 1 10.4 221 23.1 9.7 1.8
WE - TR - MR - KER 100.0 - 8.8 - 82.4 - - 8.8
L35 100. 0 - 15.1 2.2 24.0 54.2 4.4 -
b UF 3 100. 0 - - - 21.6 67.8 4.6 -
EIF - pFER 100.0 - - 0.2 6.0 91.6 2.0 0.2
M- RER 100.0 - - - - - 66.7 33.3
THESR 100.0 97.4 - 0.4 - 2.2 - -
BRE Bak 100.0 - - - 100.0 - - -
EM, WL 100. 0 - 1.8 8.0 55.0 19.1 0.7 14.4
YW PUXIER 100.0 4.3 - 13.0 69.7 8.6 4.3 -
BH—ERAER 100.0 - - - 87.8 12.2 - -
$—EAM 100, 0 2.1 0.4 6.4 39.5 0.1 5.0 0.3
(% XFIRE)
500AKL 100, 0 .7 4.5 9.4 3.9 28.3 20.8 3.3
100~489A 100.0 2.2 4.8 4.1 52.5 18.9 1.3 0.4
30~99A 100.0 0.9 2.4 4.9 40.0 30.3 - 135
5~29A 100.0 9.2 24.2 - 4.2 55.4 11 -
3OALLE (F18) 100.0 1.6 3.8 9.6 46.6 26.2 1.2 6.0
<100. 0> @D 6.3> a2 4.0 <19.6> 5.5 8.2>

[TRKRSEOREOHR]
aY 100.0 11 10.0 7.9 46.2 22.7 6.5 5.4
%L 100.0 10.3 20. 0.7 0.6 60.5 .8 -

(B E AT R

BMOBERRERHT D 100.0 1.2 10.1 6.0 49.5 28.9 7.1 1.2
AN BEET 100. 0 0.2 2.2 5.8 64.6 21.0 0.1 -
FEE:EZ TR ENCES 100.0 - - - 100.0 - - -
6MA 100.0 - 57.2 12.8 12.4 16.2 1.4 -
EMAEEX 1 ERK 100.0 - ~ 5.1 94.9 -~ -
14 100.0 49 5.6 45 39.2 16.2 24,7 4.7
1EERA DKM 100.0 - 4.2 - 33.5 28.2 30.5 3.7

MMOMBIE . PBEMBHTES 100.0 - 9.8 285 1.4 - - 50.3

3
P TR~ 2 AM~ THA~ 3hA~ 6MA~ .
H bkl PYTEY EY.EYY amA%; emARE TEER TEaE

TEH]

100.0 24.7 2.3 43 29.6 31.8 7.0 0.3
<100.0> a2 0. ® <13.4> 4.2 9.8 <1.0> 0.0
[Zx]
[ 3 100.0 - - - - - - -
¢ 4 100.0 - - - - 100.0 - -
8¢ 4 100.0 32.8 6.6 5.9 21.0 16.9 9.9 0.9
WE - HR - M8 - HGER 100. 0 - - - 100. 0 - - -
fLE: T4 3 100.0 - 0.9 6.9 12.2 3.9 6.0 -
i} 100.0 - - - 33.3 6.7 - -
EIFE - T 100. 0 - - - 46.4 44.3 9.2 -
M- RER 1000 - - - 85.8 - 14.2 -
TRER 100. 0 95.7 2.2 - - 2.2 - -
0mEE, Hax 100. 0 - - - - - - -
EM, Wit 100.0 - - - 90.3 - 9.7 -
W FTRIEX 100.0 - - 5.8 82.5 1.7 - -
WEH - EABR 100.0 - - - - ~ 100.0 -
hiad -8 100.0 33.5 - .9 45.0 7.8 5.3 0.6
1€ 3 3731
500ALLE 100.0 3.3 4.8 6.8 36.4 24.4 23.6 0.6
100~489A 100.0 1.3 9.1 7.0 44.4 18.7 18.1 1.3
30~99A 100, 0 6.0 - 6.2 49.1 36.8 2.0 -
5~29A 100.0 63.3 — - - 36.7 - -
30AKL (BH) 100.0 41 3.5 6.5 45.3 29.2 10.7 0.5
<100. 0> .0 5.0 <4.8> 51.8 <19.4> 5.9 0.2

[NEKRBFEDREOH®]
aY 100.0 15.2 2.6 48 33.4 35.7 7.9 0.4
®L 100.0 98.1 - - - 1.9 - -

BREFHARGE]

MMOBXBEEEH TS 100.0 13.3 2.7 5.0 33.6 36.9 8.2 0.4
ANO IBET 100.0 18.5 3.2 3.7 40.1 331 1.4 -
93BEMAGHBRE 100.0 - ~ - - - - -
6mA 100.0 - 9.8 48 21.3 42.2 21.9 -
SHAEEA 1 ERH 100.0 - - - - 100.0 - -
1% 100.0 1.8 0.9 8.6 17.4 46.2 2.7 1.4
VEERE DM 100.0 - - - 40.1 3.5 24.4 -

OWBEEC. PEBRRETED 100.0 2.6 - - 27.4 - -

H16. 4. T~T7 3. 3TECITWML F=F =100 0%



Fx EX-BEFSRE - FRHESOEE - TEBARHECRTOESE - BEMEAKENM. MEke
BB/EN S -ROERERRANERTHE

(%)
NEREREELH - IFOBAEERKR MA)
KREBAOW |BEFAOH |REFBER
w s EEFTHYT. |ORPARIEHM |FNA ki
BLSMOK |OBXMRHL (EEKBES T O ~ 8
OHETHL (ABZEHBS |LLTEAL
L1 w1 1=
[#51]
100.0 72.8 8.5 19.6 2.2 0.3
<100. 0> <60. & <30.3> AaA5. 2> 2.4 0.0
(E%)
i 100.0 — - - - —
B 100.0 88.8 0.2 9.8 1.3 -
Rl 100.0 81.2 11.6 14.1 1.0 0.6
B - HR - RS - KER 100.0 69.4 26.4 61.1 4.2 -
EIREEE 100.0 40.2 48.8 9.0 16. 2 -
EWx 100.0 51.3 2.6 10.4 40.9 -
HIFE - PR 100.0 54.1 8.9 38.2 0.4 -
=R RiE% 100.0 66. 7 33.3 — - —
TEEX 100.0 98.7 0.2 1.1 - —
HARE BTA% 100.0 3.6 6.0 90.4 - —
E&E, B 100.0 89.3 4.0 7.0 03 -
BE 2EXEE 100.0 10. 6 - 64.3 25.1 -
HEY—EXB% 100.0 89.1 18.5 g2 1.6 -
H—ER%E 100.0 74.9 1.2 21.7 0.8 1.8
[B%FHRE]
500 ALLE 100.0 73.1 17.1 25.3 5.1 2.0
<100. 0> <80. 8> <17.6> <20. 8> 5B D 0. 4>
100~499 A 100.0 74.0 1.1 18.4 6.7 -
<100. 0> <T7.9> <10.3> <14. Q.0 {(=>
30~99 A 100. 0 66. 3 11.3 19.5 3.1 0.6
<100. 0> <74.0> Q8.7 <28. 4> <5 T {—=>
5~29 A 100.0 75.4 5.3 19.4 - -
<100. 0> <53 D <38.5> <12.6> 1.5 (=>
30ALE (BB 100.0 70.0 12.0 19.9 4.6 0.6
<100. 0> <76.5 <10. 6> <21.5> 4.5 <0.0>
[H@BEEOHE]
HY 100.0 74.1 15.2 18.0 3.7 0.5
<100. O <59 0> <56.8> <20. 9> 1.3 <=>
&=L 100.0 72.4 6.4 20.1 1.8 0.2
<100. 0> <61. 1> <{16. 3> <12.2> 2.9 <0.0>
(TEAREHEOREDHEE]
'Y 100.0 71.8 12.8 16.8 3.4 0.4
<100. 0> <58. 5 <32.8> <16.5> 1.2 <0.0>
&L 100.0 74.9 - 25.1 - -
<100. 0> <82. 1> aA.2> <0.3> <15.8> {—>
[REMEKRELRE)
BHOREBREEFEDHTLD 100.0 70.2 13.5 17.8 3.6 0.4
<100. 0> <57.8 Q3.3 7.0 1.3 0.0
BELTO3BETCED 100.0 70.3 1.7 18.3 1.9 0.3
<100. 0> <75.5 <4.5> <22.9> 0.8 <0. 1>
93BFBRI6MNAXRT(CED 100.0 - — - 100.0 —
<100. 0> <87.5 <1.6> <12.6> <=> {=>
6MA 100.0 79.6 3.0 15.7 9.2 -
<100. 0> <76. <3.00 <563.3> <12.6> {=>
6MBEBA 1EXRD 100.0 10.9 - 8.6 80.5 -
<100. 0> <99. 9> <0. 3 {—=> {=> {=>
15 100. 0 69.7 20.8 15.9 4.8 0.9
<100. 0> <55.6> <30.9> 41.3> 2.6 <—=>
1482 58 100.0 84.9 13.5 26.4 7.1 -
<100. 0> <5.00 <84. 9> <0. 3> {=> {=>
HMEORRIZG. HEBMIMEBTES 100.0 98.8 - 1.2 - -
<100. 0> <82. 2> <471.8> {(=> {=> {—>

NEEREIMBEOH ~T-F¥EF=100.0%
(GED) FRI4EET I3NAFETY

(F2) TERMEELZ T3NBEEBI6MAER






